Economics – 3

The Environment

The News

Ecuadoran Indians and peasants have sued Texaco for 1.5 billion dollars over pollution they say caused community health problems.

The lawsuit claimed that Texaco used methods "that had long been abandoned or prohibited in other countries, because of their deadly effects to the environment and to human health." 

The rate of deaths caused by cancer rate in the polluted areas is triple the national average. Children under 14 have been especially hard hit. 

Under the lawsuit, once the cost of reparations is determined, Texaco would have to pay 10 percent of that amount to the victims, money that should go the Amazon 

Nearly 83 percent of the population in the affected areas have suffered some type of illness attributable to the pollution, according to the suit. 

The case was initially filed in a US court in New York in 1993, but a judge then ruled that the matter should be resolved in Ecuador. 

The Indian and peasant communities that have filed the case claim that when Texaco operated in Ecuador from 1964 to 1992, the oil company polluted their soil and water with 464.8 million barrels of toxic water and burned 235 billion cubic feet of natural gas. 

The case recognises that Texaco did do some environmental clean up, but alleges that not enough work was done to repair the damage.

The theory

The environment

This is both an interesting and very topical part of the course. It normally brings out deep held beliefs but as the article above clearly illustrates the costs and benefits of development need very careful analysis. Indeed, if possible one should try to remove emotions from the analysis.

So, what will the examination question concentrate on? Initially, it’s best to think about some basics.

You will have to remember that you will need to be aware that


* resources are finite and we try to allocate them so as to achieve the greatest amount of economic welfare from their use


* as we use resources so they deplete and in using them we degrade the environment e.g. pollution


* we are trying to achieve the state of sustainable development BUT we struggle against (a) the depletion of valuable resources


(b) the continued creation of harmful and unpleasant pollution, congestion etc as we utilise resources to generate economic wealth

If we aim for sustainable economic development then we are trying to achieve a state of

' ensuring that the needs of the present are met without compromising the ability of future generations to meet their own needs'. 

We therefore need to look for:

(a) ways of making electorates accept less economic growth


(b) for alternative ways of delivering economic growth
.

As you know economic transactions come with costs. These can be BOTH private and social. A profit maximising firm will aim to generate as much private benefit to their stakeholders as they can, whilst consumers are mainly motivated by self-interest.

By pursuing such goals both parties create negative externalities and so reduce the economic welfare available to the economy within which they operate or live. Indeed, we are increasingly aware that spin-off affects might impose on people living literally thousands of miles away from where the product or service is eventually consumed. These 'innocent' third parties will be adversely affected by the actions of others. We also need to note that external benefits can occur (positive externalities) and then we need to be aware of free riders, which consume these benefits without having paid for them.

1 External Costs of Production

These exist when the Marginal Private Costs and Marginal Private Benefits exceed those of the Marginal Social Costs and Marginal Social Benefits It could arise from pollution, in particular let's look at acid rain.

The government could:

* pass laws banning all pollution - but that costs money in inspections etc.


* they could tax the polluter BUT remember your elasticity’s and think who will REALLY pay and why. Will it be the polluter, or the consumer?


* limits could be set and permits issued, with fines for those who produce too much. Those who produce less than their allotted amount could sell surplus permits to those who have broken their limit.


* a private property right could be established that guarantees citizens clean air but again who will 'police' this? 

It is never easy to make private enterprise comply with regulations from which they see costs and very few tangible benefits.

2. External Benefits of production

Sometimes individuals and commerce actually do things, which benefit others than just the economic agents involved in the transaction. Then we have under-production and not over-production. So, what can be done? 

* perhaps grants, subsidies or loans to encourage producers to follow a certain method of production.


* again the law could be made favourable to those following the way the government wishes, so tax relief or write-offs might help producers

Once again society has to decide whether it wants to pay the cost of externalities, both negative and positive

Now, let's turn our attention to the consumer.

We like choice and cheap prices and sometimes we fail to accept the real or full costs of our wants. We look at the short-term impact of our needs and seldom look at the long-term consequences of our behaviour.

For example, we like immediate and personal transport BUT do we really take into account the full cost of this? Once again we produce an over-production situation and the existence of negative externalities. So, what choices face us?


* should we accept noise control, or litter fines or regulations that make us re-cycle our waste?


* how will these be enforced and who will actually pay for them and when?


* will we pay for old cars to be taken away or must the fly tipping continue?


* what or packaging, or the need to pay so many visits to supermarkets? Both contribute to pollution and visual pollution.

Transport .

We all know the real costs of miles of new motorways etc but how can be maximise the external benefits that an integrated transport system will bring?

Well, maybe we should:


* strive for an integrated transport system


* invest more in public transport


* privatise roads, bridges etc


* increase park and ride and put up the charges of inner city car parks


* create more bus lanes


* increase the number of pedestrian only areas


* increase car tax


* increase petrol tax


* watch very carefully the impact of the congestion charge in London

Whatever mixture is decided on it will involve a trade-off and some will feel that they have won and others that they have lost. 

Our current stock of roads is largely non-excludable and we can enter at many different places. Motroways are different and the UK is amongst a minority in the EU, as we do not at present charge for their use. But what will happen if we do start to charge for road use? The economic argument is that the toll should equate with the social cost of the activity of driving a car. However, it is a difficult topic both with the public and politicians.

Topic of the Week – The national economy and the environment

The government now accepts that one of its macro objectives is to maintain and improve the quality of the environment. 

Once again it's a trade-off between continuing to improve the material standard of living of the average citizen and hitting those targets for omissions etc.

Can we have economic growth and a clean planet? Does the only way of achieving economic growth involve the cost of a reduction in our true economic welfare? We all enjoy private benefits from the market, via what we purchase and consume and public benefits from what collective taxation allows government to give us in public and merit goods. But do other factors influence our quality of life?

We appear to want cleaner streets etc but that costs money. But is it all costs and no benefits? Those cleaning our streets etc are being paid salaries and wages and these are spent within the economy. So, that is a positive multiplier effect and it’s therefore partly self-financing. Also, by stating high ideals and backing these with policies we can add value to our national stock of enterprise and so increase competitive advantage.

However, this all comes at a price and how will this effect inflation and any loss of competitiveness? The 'big boys' probably gain from economies of scale and therefore productive efficiency but does that also apply to smaller producers? If we decide to control out-of-town developments, so allowing the smaller traders in town centres to have some advantage in tempting back to their business is that maximising the efficiency of that sector? 

We also need to be aware that free trade and movements of products means that negative externalities can also be shifted about the planet. This could impact on our balance of payments. Do we sit back and let other, normally less-developed economies become the dumping ground for our waste? Or, do we accept that cost of cleaning up our own mess? 

Some questions

1 Describe what is meant by the term’s (a) negative externalities and (b) positive externalities.

2. What can be done to reduce the effects of external costs of production?

3.Outline some of the choices faced by consumers when addressing the problems of externalities.

4.In what ways does the acceptance of government that macro polices should have minimal adverse effects on the environment alter the economic stance it takes?

Some suggested answers

1 (a) negative externalities are when the actions of two economic agents have a detrimental effect on a third party. These ‘spillovers’ impact on the lives of the third party but they do not receive any financial compensation. They include pollution and congestion.   (b) positive externalities are when spillovers to third parties are beneficial. They do not have to pay for these and they might include training or other public services. The externality is added to the private benefit to give the total social benefit

2. If a government feels that external costs of production exist they can consider introducing one, or all of the following, depending on what the externality is.

· pass laws that ban, or limit the amount of whatever is causing the externality from being produced

· impose a tax on the polluter, but who eventually pays will depend on the elasticity of the market being taxed

· introduce property rights that establish ownership and so allow for rules etc to be imposed that control whatever is taking place

· issue permits that allow a certain predetermined amount of pollution, or whatever the external cost is. These can be traded and might be (a) increased in price with each new re-negotiation and (b) reduced in permitted amounts, so forcing producers to consider alternative forms of production.

3. Consumers face a range of choices when confronting externalities. These include:

· taking into account the FULL cost of what they are consuming, that is BOTH the private and social costs.

· Accepting that rules, regulations must be imposed to safeguard against extreme abuse. Fines and other punishments may have to be accepted. 

· Accepting that some form of jurisdiction will be needed to impose the rules etc and that a body will be needed to police matters

· Accepting that some public funds will be needed to tidy away unwanted items, such as old cars and that this money will have an opportunity cost

· Being aware of the problems associated with packaging, noise and other forms of externalities that might be part of a consumer led society.

· Doing without certain products and services, which are proven to be harmful to both consumers and innocent third parties.

4. By accepting minimal environmental damage as part of the sustainable development most governments no aim for they are acknowledging the need to monitor the impact of all their macroeconomic policies. The trade-off between growth and adverse climatic and other problems will become more and more a central part of government thinking. They will need to balance the desire for growth against the cost in noise, congestion, pollution and risk to life.  How will they develop an integrated transport system and what form of travel will be central to their planning? Will the car and more motorways be the winner? Or will public transport or energy efficient forms of travel be the receivers of more investment. To maintain competitiveness the government will need to provide the correct economic environment for cheap utilities, transport and other infrastructures to develop. Will they channel funds into alternative forms of energy, different types of employment and training and other main areas of expenditure that will be influenced by a desire to be environmentally responsible? Will big producer be given preference, or will smaller firms be encouraged? How will planning react to the continued pressure on green field sites? Will brown field sites be encouraged via grants or subsidies? A complete re-think of both central and local government thinking and priorities will be needed as they increase their concern for growth without adverse effects on the planet and its resources.

